MATH 145 TesT 4 - Review PRobLEMS

@ Mow MANYT ARRANGEMENTS &F THe LeTTeAS cw

£
O How manY (NTRGAS ™ {\,,\'

&

IE

liom Pyl Y
! \:NME::&:.(;U AR Tne.&L?

N C
v, \QQ‘%j ARe 00D AND HAVE OvSTincY DLG)T‘é?

To 03TRIBuTe 4 To¥s Yo é CHILDReEN iF

How MANY wWAYS ARe TiwieRe
CHiILD CAm GET MoRe Tran | Tu‘/‘?

AND ANy

a) Tvwe ToyYs ARC Dl’“'\l(_‘-\—)
Y The, Toys ARe OwsTiwci, ANO miLo Can GeT Moke Than | Toy T
AND No (LD CAN GeT Maole ToAN | To‘[?

¢) Twe Tei3 ARe oemTicAL,

vs CA~N 3¢ Tuaws Awns 10 GReens Be ScATe D

% Acl ST T‘oec.'\ne.R?
T NexY To cAacH cTﬂcR,?

How Many WA
¢) (~ A Rew Do THAT Twe GR2wK
0} L. A CIRCLT S0 VHAT WO Two Gaeaens
i~ TH ~NumBeR] oF WAYS Ta Choude commTriee oF 8 PeoflLe FRoWvl
A GRowP ow 15 mead A~DO 3.5 Woten W (e CormMiTT e Musy CoNTAIN

A) AT LeAdT onNe MAN,

B) A7 Lensdt 6 Women, ANS :S.m ano Mown? Aerude Vo Be ON A CamMmTlevr TOGC,TH(,R‘
32 wenTicAL 5TiceS AAL Lnen P N A Rew, E.nd THe WumBeR ¢F WA YS
50 THAY

STicks ARR (oM Secuiie,
R oF C(ngsens SVICKS,

Ts Choode & 3TICR3
A) No Twd OF Tre CHozew

AL AT LeAsT & 5TiCKS goTwetN eack Par

8} Twechre A
| a~no 60,000 (1 ~CLume )

cF iuTe Gers 8 eTweenN

THe PR TR
b3, 8Le 8% 4,6, o~ 1D,

I:.,NO

wrten AaRe NnoT

N

:>:i wrn [
A) J«N)(’L\F‘/ THO exPrResSioN (—‘,\ (K, ) 3 .

w0

3 4 ey (‘t‘::) A (";Z) 4(";1) W3NG Pascal’s FoRmuolA,

e The CauaTiaN

(NTRGRAL SoLulconD
3<X3<T, A< X4 216,

Fiano The ~umBeR oF

X.;&X.xv’(sv)(ﬁ-:—lé ._\f)(_xﬁd(—)

wtH A =<X, =&,

A GRouf cf 1S Pecfre iNTo 4 NumBeRes Teams

mAwy WAYS (AN You OvvvOR
LeAsT oNe PtR.Sm\;?

Khow
so THAT eveRY TeanM mAas AT
13 Nn-LeTieR CoDewWwalRDs w3.NG Tee

THe NuwmBLAR

Fino A ReculfRenNdce
LetTeAs O,b,C F The Seduenced abc a~o acb

5\-~n"§ wALcH LeAve exAcTLY 3 ~wTe6elks

RQL,\_\—LON FoRk hl’)}
ARe No¥ AlLloweb i~ A CadewekD

28 oF PeAMuTAT omns ofF

Finwd The tNumd
a ~NATuRAL PosiTion, ANO s\ MPLFY  YouR ANSWeR,

N T



